&6 EEH

mEESFFRNEMREETRR

thifd X/ N\ L—R—ILKE

Z F INFATHRERESE (A-B-C-Da—+F) EREHTH#LEABE E-F
SHEHFEINAI6A (L) AlF-Z19:30 KRREKHEI 45 FHHEAIHA10:30
SHEFE1AIBA(A) AlG-Z19:30 KRREKHEI 45 FHHEAHA10:30

11A168 11A18H 11A168
kE B & F1 16 £
B2 F3
= £ B ¥ 17 7%
B1 F1
B R % 3 18 B
B4 F5
= B 4 e 1970
D2 G2
+ BHE & &5 2 [
B3 F4
# F 6 A
D1 F2
N F BT 22 44
B1 B2
B3
wOR K M
C1
k HEH B %9 28+
G3 G1
= £ 10 % E
G2 G3
& fE 11— 25
Ad E2
b % 12 26 =
A2 E4
MBEMEFRE 7K
A3 E1
N H 14 285
Al E3
mox B 2 29 th
3 - A(IREH
B1E&%4D|3—Bz,ﬂ5(%
5 - 7 RREH
BARRE FoRE
D1 |— — D2
M E E4fgE

Ga—F)

13

Jik

X

N
s

W

A

Bt

op

i



THeEEHRRESFFIRUFTHRATRR

g E X/ AL —R—JILKE

85 F INFATREHKESE (A-B-C-Da—H)
SHM6EITA1TH () AZ-2£19:30 KEXEFREI 45 FREFAIR10:30
SH6EI1A18H (B) AZ-2£19:30 KEXEFREI 45 #EFAIR10:30
1MA178 11A188 1MA178
B R % B nE M I ¥
N A2 C2
= A 2 2k M B %
Al C1
E B 5 F¢4 14 4 )
A3 C3
I H o5 15 % y:l J
Al A2
A3
& kel 6 6 F OB
D3 B3
HRERIE = £ =
= £ 5 D4 B4 18 1 7%
D1 B1
M oo R M m &
D2 B2
w R OR B 20 FRE B
3 - 4fTRER
A BE | A2BE
C3
5 - 7 {LREE
ABRE CABRE
Cl — — G2
DABLE BARK &




